A | 5
qu+hlr\9 dnoct —m\f\es op SpQCE’  hos m()sg |

Some . amont
T T T et
IR O VP £ o = O P
| d&%\oﬁm@ﬁv prases) a Peptous
| - B ")’,"’;" wel ,&p,(‘\‘)
| 9 mlosma e U
i mid liwd  gos plosmalegh
- ¥ particles || Jnthq  dloge for . yeny far
I T T T e | | e .aoor+ ofark
. shape. de%ﬂdﬂ mdePlnHe ————TT——%
-*‘{»;-: volume. | definitfe ————» inde {mn‘th-'-' — |

‘%f mouermn+ vibrdte. | Mo past  sfaste | weny fost
mpoghm eachofher random - &rancom

— hlghes+

§ O Tl RS

- con Oﬁll_.‘ he ODSJUUQd. Ud’lm
chargtrg +he modHer's

- Kinstic epergy

(enery of Iou)es‘r
o mo on ) |

es/l
P Tegeie oy

-con he abserved without
c,h().ngln +he mod-fer's

compcs composmm (somelhm9 nau-%rms)
Exammles | les |

mMmass combustibili4y |

volume tendency to reacF

me.Hing poin nusting |

odoY™ dnges ©on

color cornsion

Texture mntshlng

evoparoction
~ dens\

solubility oy 4o dissolve

ducth ity drow info o wie.

modleabilrty- ocund into Jr’mqr
\x\—hr\g |




Densily = mass
volume,

Volume of o recfangle

h Al |
w)

V‘:&Xb\—) Xh

il 6 1
L 43

Volume of an oddly - shaped o] ecgu)odrer displacament

/

MW Y11 groduo&_éd eylinder
% with water ' read +he
OlOJer— Inl'l‘l(ll UO‘Ume, (Vl\
N oylinder ®read |
+he. finoll yolume,

3 Vobject = Vp - Vi

ZY Place. onyect carefully

Vo
e

T




Density Examples d = m/V
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A piece of copper has a mass of 11. SLand its volume was
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determmed to be 1.283 mL. Calculat@ginsnty 2
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2. % A chunk of silver has a density of 10.49 g/cm? and its volume was
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calculated to be 5.88 cm3. What is ttf the silver?
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7.89ganda den5|ty of 1141 g/cm what is the volume? S\__ an’j’
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What is the volume oj% a sample of liquid oxygen with a mqsr_s____qu_
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A cube of aluminum has a mass of 34.02 g. The length is 3.6 cm,

the height is 1.4 cm, and its width is 2.5 cm. Calculate th fthe cube
' \/

and then t fthe aluminum.
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A piece of glass was found at a crime scene and the forensic
scientist needs to determine what it is made from. He finds the mass of the
. . W

glass to be 18.85 g and he uses water displacement to determine its volume.

He fills a graduated cylinder with water and determines the |n|t|al volume to

\l. be 34.3 mL. After that, he carefully lowers the glass into the cyllnder and
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reads the final volume to be 49.9 mL. Calculate the volume o 51‘ the glass

\I_? ~sample and tse the chart below to determme@é%ype of glassm.
Type of Glass Density (g/cm?) Wemg \

Safpphireglass 3.98 V%\QSS \J_Q \Jl .....

Flint glass 3.0

Common glass 2.6 ‘/q Im L
Gorilla glass 2.54

Pyrex glass 2.21
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